N = 529 N = 530 N = 531

529 circles in acircle 530 circles in acircle 531 circles inacircle

radius = 0.040278367828  density = 0.858221517976
ratio = 24.827222499936  contacts = 123

radius =  0.040251137105  density = 0.858681640270 D radius = 0. density = 0. s gesmr
ratio = 24.844018627135 contacts = 1224 ratio = 24.870921962797  contacts = 1258

N = 532 N = 533 N = 534

532 circles in acircle 533 circles in acircle 534 circles in acircle
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radius = 0.040159157621  density = 0.857987224510
ratio = 24.900920717604  contacts = 1242

radius =  0.040125449352  density = 0.858157548478
ratio = 24.921839285275  contacts = 1216

radius =  0.040088237275  density = 0.858173654035
ratio = 24.944973088436 contacts = 1209

N = 535 N = 536 N = 537

535 circles in acircle 536 circles in acircle 537 circles in acircle

radius = 0.040049161517  density = 0.858105405945
ratio = 24.969311768875 contacts = 1223

°

radius =  0.040005363170  density = 0.B857829988127 Heser radius =  0.039971176652  density = 0.857962195108 DEsmn
ratio = 24.996648468404 contacts = 987 ratio = 25.018027582790 contacts = 1240

N = 538 N = 539 N = 540

538 circles in acircle 539 circles in acircle 540 circles in acircle

0 density = 0.
ratio = 2508223707115 contacts = 1284

radius = 0039938372070  density = 0.858149577227 DI radius = 0.039897199682  density = 0.857972946389 DEse radius =
170 0

ratio = 25.038576891463 contacts = 117 ratio = 25.064415747734  contacts = 1271



